124 1900 Al AL B, C 2 A 1] 3 A P

fm
ol ), AB o 2 e @ A <17}

7} giek
P
°
* ® — |
A B C

@14 @24 O34 @4  O5A

AB £ 9hAMo|mg g A o4 E9ste] B o] Yo W
o]},

webA AB = AC o]tk

rr




2. FM-2ABFHoIX H N2 BM 9 FHolth MN =5cm o
o, AB 9] Aol=?

,5cm\.
A M N B

@ 10cm @ 15cm (@)200111 @ 25cm ® 30cm

ST R

M -+-'N"-4-"B
AB = 2BM = 2 x 2MN = 4 x 5 = 20( cm)




@ 48° ® 50° @ 55° ® 60°

@45°

= 45° o|t},

oo 360°

360° ©]

ol
__OH

1

o] 9lzte] 27]9]

O

o2t




J— 11— R —

@AB:ZCD @ AC=BD
o 1 N ~ N
@5.optAB = 5.0ptCD @ 5.0ptAC = 5.0ptBD

1
® AABO = ZACOD

S 1 N
5.0ptAB = Z5.OptCD ojtt.




& 7389 AABC 2] ¥ Q2 Hkx]29] Zo]7} 1em Q) YL =] A
A7) BAE @ v B o), Qo] ALk HE 0] Holk?

@47r + 48(cm?) @ 2m + 48(cm?) ® 27+ 40(cm?)

@ 4m + 40(cm?) ® 61 + 50(cm?)

o] 17k 22| Yol A A2l Azt e] Hole} Al gel
Zo]7t 2cm Q1 99 WolE | ?F A% £t
S =rx22+2x% (10 + 6+ 8) = 4xr + 48(cm?)




6. o= 2dA 97

6cm }1 97]5 2]

59 o] WAEe] Zolzk 2em o131, oI}
w2

TN

N

@ 127cm? @ 18mcm?
24ncm? ® 30mcm?

V =22 x71x6=24r(cm?)




7. oln m4REEAA AFO 2717} 6 o1, AFke] 58 olehu of

A7
@ 54 o]/F 60 =] @ 55 o]/F 60 FI
® 56 ©]4 61 | @55 ol 61 wlTt

® 56 ©]AF 62 m|ut

(58 — 3) o]/ (58 + 3) m|Tt




o APFECA EA 2 AB F 21]1 9] A
A A AeE?

® 0 @14 @)
@ 371 ® 474

A2 AB ¢ A= ¢k WA & ¢F= A= DE
CD & 2 7ft}.




=2 /XOY 9] o] 524 919 g A P oA ¥t 0X, OY ¢el
W 5490 1S 24zt A, B g & o, AAOP = ABOP 98 Hol:

oIt} (1), (1), (ch o AEE 7L At How9

X
P
Y B v
AAOP £} ABOP ©f| A4
oP = 3%
(AOP = (7})
(APO = (4 ) - £AOP
=(4)-/BOP
= /BPO
.. AAOP = ABOP (( o) &%)
O ¢AOB, 90°, SAS @ /AOB, 45°, ASA
@) BoP, 90°, ASA @ /BOP, 90°, SAS

® /BOP, 45°, SAS

(AOP = (/BOP)

(APO = (90°) — ZAOP
= (90°) — /BOP
= /BPO

Z, @ We| Zolrt 21 1 F E Zo] ZoBE

LR

AAOP = ABOP (ASA) @50l




10. ©h2 I} o] fEG o Yol & g A -
oA Edsto] g v Fof thA] Fote =

7P A2 A A o] viaA verd Z12? B
(2 A B = 24 9l o)

A
@ @




11. o =223 = 9 60 B9 A4S vepd Aot 60 A ol
70 A \]9kQl S8 71 50 A o 60 A mIEkel Y 4= 2 v o,
y 9 327

FEIE)) 4 4 (1)
30°7% ~ 40" 2
40°% ~ 50" 4
50°7% ~ 60" x
60" ~ 70" y
70 ~ g0 18
80°F ~ 90" 10
90°"% ~ 1007% 5
A 60
® 6 @ 7 @Du @18  on
. ~
A T +=60=2+4+x+y+18+10+5
y = 2x= i dste] 7ts] St
3x+39 =60
3x=21 .. x=7
Ly=2x=14




12.

Dhe L QIEU O84S hO R k% AEY AL AT £
oItk Ak AlZo] 4|7} ulakel o] S2b= AH o] B %el7?
NEAZ(AZ) | &2 (%)
0~ 2" 12
218 4T A
41 o 6‘3']‘1} 2
601"0* - 8‘3]‘1} 1
8T ~ 10" 1
2Ll 20

®10% ©@20% 4% @s0% © 0%

B

20-(12+2+1+1)=20-16 =4
L A=4
4217} wIgkel SEAY 4 ¢ 1244 = 16 ()

1
£ x 100 = 80 (%)




